= A
Nl = 0l & AF & H Al AN
20138 & =& 3 3 LBtgH SEUJ
2AN: SEORA
E: FOIEO BIANHIA KB
CHlr DUZAO LAMH (el &e)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
=012 2,905,885 2,962,396 NA56,511
2 501,791 501,791 0
[ 37,772 37,772 0
2 2,366,322 2,422,833 A56,511
Z=OIHO| DIRIAHA M2 1,322,157 1,324,657 22,500
2 66,783 66,783 0
2 1,255,374 1,257,874 22,500
DWHZAO DIKABHE 236,553 239,053 22,500
2 66,783 66,783 0
2 169,770 172,270 22,500
A==l 75,373 77,873 22,500
405 KH&HE S| 57,000 59,500 22,500
01 ML SEFESH 57,000 59,500 22,500
OssL2D| A 57,000,0002 * 14! 57,000 59,500 A2,500
2HGD S8X0 EX 2L 390,718 425,370 A 34,652
2 133,508 133,508 0
= 30,212 30,212 0
2 226,998 261,650 A 34,652
NIRRT ESR- P Eaye:] 322,448 355,615 NA33,167
2 133,508 133,508 0
< 30,212 30,212 0
=2 158,728 191,895 NA33,167
XNE=2AY HA 12,725 13,300 A575
201 LBt 2,225 2,300 AT5
02 222 825 900 AT5
O[A &= X ] 825 900 AT5
OXNEZHEEAHOINAE BS € RAES
A 825,0002 * 14l 825 900 AT5
207 SR IH ey 9,500 10,000 A500
02 & AFJH Y 9,500 10,000 A500
OXNESHZA UM G
A 9,500,0008 * 14l 9,500 10,000 A500
EXOSX HESAE 22 32,900 36,400 A3,500
207 SR IH 2| 31,500 35,000 A 3,500
02 & AN Y 31,500 35,000 A 3,500
OEXOISZAAM B-=H
A 31,500,0008 * 14! 31,500 35,000 A 3,500
NEBHEHG ALY 17,530 40,522 A22,992
201 LBt 17,530 40,522 A22,992
01 AL 22| H 17,530 40,522 A22,992
Olger=a|] 16,830 39,822 A22,992
OXNEENESHIE MATIY HHE HEYE 0 0 22,992 A 22,992
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